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4.47 The reinforced concrete beam shown is subjected to a positive bending
moment of 175 kN * m. knowing that the modulus of elasticity is 25 GPa for the

concrete and 200 GPa for the steel, determine (a) the stress in the steel, (b) the
maximum stress in the concrete.
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[image: image2.jpg]Problem 4.50 4.50 Knowing that the bending moment in the reinforced concrete beam is +150 kip -
ft and that the modulus of elasticity is 3.75 x 10° psi for the concrete and 30 x 10° psi for
the steel, determine (a) the stress in the steel, () the maximum stress in the concrete.
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4.103 The vertical portion of the press shown consists of a rectangular tube of wall

thickness # = 10 mm. Knowing that the press has been tightened on wooden planks
being glued together until P =20 kN, determine the stress at (a) point 4, (b) point
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Problem 4.120

4.120 The C-shaped steel bar is used as a dynamometer to determine the magnitude
P of the forces shown. Knowing that the cross section of the bar is a square of side

1.6 in. and the strain on the inner edge was measured and found to be 450y,
determine the magnitude P of the forces. Use £ =29 x 10° psi.
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